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* READ ALL THE INSTRUCTIONS CAREFULLY.

* ANSWER ALL THE QUESTIONS.



Questions 1 to 5 carry 2 marks-each. For each question, four options are given. One
of these is the correct answer. Choose the correct answer and write its number (1, 2, 3

or 4) in the bracket provided.

(10 marks)

1.

A5 (5| [T

Which of the following expressions represents the bictures shown above? -~ -
g €Xp , P p

(1) 3 groups of 3 (2) 3 groupsof 5

(3) 5 groups of 3 (4) 5 groupsof5 { )

Which of the following expressions represents the pictures shown above?

(1) Iten (2) 2tens

(3) 10tens (4) 20 tens ( )

sos o |s|s|ol s
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Which of the following expressions representé the pictures shown above?
(1) 3+7 (2) 7+3

(3) 3x7 (4) 7%3 | ( )

36+

What is the missing number in the box above?

(1) 8 2) 9

(3) 10 (4) 32 ( )

b



What is the total amount of money shown below?

(1) $0.95 () $1.05

(3) $1.15 (4) $1.50 (



Questions 6to 10 carry-2 marks eath. Show your working clearly in the space below
each question and write your answers in the spaces provided. For questions which
require units, give your answers in the units stated. S (10 marks)

6. 40=[ 7 Ixs

What is the missing number in the box above?

Ans:
7. 3 morethan 5 x3is
What is the missing number in the box above?
Ans:
8. There are 20 cookies shown belaw Put the cookies into 4 equal groups.

How many cookies are there in each group?

Ans:




9.

Write an equation to represent the pictures shown below. -

00000

Ans:

10. The amount of money Mary has in her purse is shown below. How much
money does she have in her purse?

$2 <\

TWO DOLLARS
FIVE DOLLARS
$10

TEN DOLLARS i TEN DOLLARS
Ans: °$




Questlons 11 to 14 carry 3 marks each Questxons 15 and 16 carry 4 marks each
Show your working clearly in the space provided for each question as marks will be
awarded for relevant statements and correct answers. - -(26 marks)

11. ‘Aini and Bala shared 18 sweets. Each of them received the same number -of
sweets. How many sweets did each of them receive?

12.  Erasers are sold at 8 for $1. How many erasers can Mg Eee buy with $107




'13. Mr Tan packed some mangoes into bags of 5. How many mangoés were there
in 6 such bags? '

14. Aini had a 50¢ coin and nine 5¢ coins at first. She bought a drink for 50¢
How much money had she left?




-

15 . . A'camera cOsts $297: It cbsts_'$17g less than a _teiévision set.”
a) What is the cost of the television set?

,

b) What is the total cost of 1 such camera and 1 such television set?




16.  Caili has $30 in her pig'gybaﬂk. The mbney in her i)iggybaﬁk is in $2-notes and .
$5-notes. The number of $2-notes is 1 more than the number of $5-notes. How -
many $2-notes-and $5-notes are there in her piggybank?

There are $2-notes and ' $5-notes.

End-of-Paper
(8}
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Q1 1Q2- 103 Q4 Q5

2 2 4 2 2

Q6.8 > 40+5=8

Q7.18 =» 5x3=15,15+3=18 |

Q8.5 2> 20+4=5

Q9. 6x10=60

Q10.$37 = $20+$17=$37

Q11. Each of them received 9 sweets. = 18+2=9

Q12. He can buy 80 erasers for $10. 2 10x8=80

Q13. There were 30 mangoes in 6 such bags. -) 6x5=30

Q14. She had 45¢ left. ¥ 9x5¢=45¢, 50¢+45¢=95¢, 95¢-50¢=45¢

Q15. a} 1 television set costs $475. = $297+$178=$475
b) 1 camera and 1 television set cost $772. =» $475+$297=$772

Q16. There are 5 $2-notes and 4 $5-notes. = 5x4=$20, 2x5+$10, $20+$10=$30

THE END






